
0$7+�������)DOO��������6HFWLRQ������3��<DVVNLQ
0DSOH�4XL]�6ROXWLRQV
> restart:with(VecCalc):VCalias:
��

0HWKRG����/DJUDQJH�0XOWLSOLHUV
> V:=MF([L,W,H],L*W*H);

�� �9  → � �� �/ : + /: +
> constr:=V(L,W,H)=3;

�� �FRQVWU  = /: + �
> A:=MF([L,W,H],2*L*W+3*L*H+4*W*H);

�� �$  → � �� �/ : +  +  + � : / � / + � : +
> delV:=Grad(V) &@ [L,W,H];

�� �GHO9 > @� �: + / + /:
> delA:=Grad(A) &@ [L,W,H];

�� �GHO$ > @� � + � : � +  + � / � +  + � / � :
> eqs:=equate(delA,lambda*delV);

�� �HTV ^ `� � =  + � : � + λ : +  =  + � / � + λ / +  =  + � / � : λ /:
> sol:=solve({op(eqs),constr},{L,W,H, lambda});

VRO ^ `� � � = λ �  = : �
�  = / �  = + �  = / � � �5RRW2I � +  + B=� B= �  = ODEHO B/� �^��� �

 = + � �5RRW2I � +  + B=� B= �  = ODEHO B/�  = : �
� � �5RRW2I � +  + B=� B= �  = ODEHO B/�� �

 = λ −  − � � � �5RRW2I � +  + B=� B= �  = ODEHO B/� `
> evalf(sol[2]);

 = +  + ������������� ������������ ,  = :  + ������������� ����������� ,� �^
 = λ  − ������������ ����������� ,  = /  + ������������ ����������� ,� `

> subs(sol[1],[L,W,H]);







� �� �

� �
0HWKRG����(OLPLQDWH�D�9DULDEOH
> V:=L*W*H;

�� �9 /: +
> H1:=solve(V=3,H);

�� �+� �
/:

> A:=MF([L,W,H],2*L*W+3*L*H+4*W*H);

�� �$  → � �� �/ : +  +  + � : / � / + � : +
> A1:=MF([L,W],A(L,W,H1));



�� �$�  → � ��/ :  +  + � : / �
:

��
/

> delA:=Grad(A1)&@ [L,W];

�� �GHO$








�� � � − /� : �

/�
 − � /:� �

:�

> eqs:=equate(delA,0);

�� �HTV ^ `� = 
� � � − /� : �

/� �  = 
 − � /:� �

:� �
> sol:=solve(eqs,{L,W});

VRO ^ `� = : �
�  = / � ��� �

^ `� = / � � �5RRW2I � +  + B=� B= �  = ODEHO B/�  = : �
� � �5RRW2I � +  + B=� B= �  = ODEHO B/�

> evalf(sol[2]);

^ `� = :  + ������������� ����������� ,  = /  + ������������ ����������� ,
> subs(sol[1], [L,W,H1]);







� �� �

� �
��
> r1:=1+2*sin(theta);

�� �U�  + � � � �VLQ θ
> plot(r1, theta=0..2*Pi, coords=polar);

> solve(r1=0,theta);

−
π
�

> A1:=Muint(r, r=0..r1, theta=-Pi/6..7*Pi/6); A1:=value(%); 
evalf(%);



�� �$� G⌠
⌡


−
π
�

� π
�

G⌠
⌡

�

 + � � � �VLQ θ

U U θ

�� �$�  + 
� �
� � π

�����������
> A2:=Muint(r, r=0..r1, theta=7*Pi/6..11*Pi/6); A2:=value(%); 

evalf(%);

�� �$� G⌠
⌡

� π
�

�� π
�

G⌠
⌡

�

 + � � � �VLQ θ

U U θ

�� �$� −  + 
� �
� π

�����������
> A:=A1-A2; evalf(%);

�� �$  + � � π
�����������

> 


